BID NAME/NUMBER: 25-596-07-14 / Meter Connect Supplies

OPEN DATE: July 14, 2025 2:00 PM CST



Vendor Name:	Ferguson Waterworks	Core & Main, LP				
Street address:	1900 W. Expwy 83	100 N. 1st St.				
City, State:	Mission, TX 78572	McAllen, TX 78501				
	(757) 874-7795	(956) 631-3341				
	Brian Hill	Roy Garza				

			Brian Filin		Toy Garza			
		ION: UOM Estimated				Jorge.Lopez@corandMain.co		
DES	DESCRIPTION:		Estimated QTY.	Unit Price	Total Ext.	Unit Price	Total Ext.	
1	1" LINEAR FEET OF POLYETHYLENE TUBING	Feet	1,000	\$0.70	\$700.00	\$0.70	\$700.00	
2	2" LINEAR FEET OF POLYETHYLENE TUBING	Feet	1,000	\$2.48	\$2,480.00	\$2.47	\$2,470.00	
3	3/4" METER COUPLING	Each	400	\$9.78	\$3,912.00	\$9.09	\$3,636.00	
4	1" METER COUPLING	Each	75	\$12.97	\$972.75	\$11.85	\$888.75	
5	1" COMPRESSION ANGLE STOP	Each	100	\$67.92	\$6,792.00	\$60.48	\$6,048.00	
6	2" COMPRESSION ANGLE STOP FOR PVC PIPE	Each	5	\$340.78	\$1,703.90	\$274.44	\$1,372.20	
7	1" x 3/4" COMPRESSION ANGLE STOP	Each	75	\$36.96	\$2,772.00	\$48.87	\$3,665.25	
8	3/4" ANGLE STOP U-BRANCH	Each	50	\$210.35	\$10,517.50	\$34.56	\$1,728.00	
9	2" COMPRESSION ANGLE STOP FOR TUBING	Each	20	\$307.19	\$6,143.80	\$267.78	\$5,355.60	
10	1" COMPRESSION x 3/4" U-BRANCH	Each	20	\$210.35	\$4,207.00	\$172.98	\$3,459.60	
11	3/4" COMPRESSION TEE	Each	10	\$53.58	\$535.80	\$49.04	\$490.40	
12	1" COMPRESSION TEE	Each	30	\$74.29	\$2,228.70	\$52.49	\$1,574.70	
13	2" BRASS 90	Each	10	\$27.00	\$270.00	\$24.80	\$248.00	
14	2" BRASS CAP	Each	5	\$19.95	\$99.75	\$17.53	\$87.65	
15	2" BRASS COUPLING	Each	5	\$20.60	\$103.00	\$21.36	\$106.80	
16	2" x 3" BRASS NIPPLE	Each	30	\$13.36	\$400.80	\$14.90	\$447.00	
17	2" x 6" BRASS NIPPLE	Each	30	\$22.95	\$688.50	\$28.78	\$863.40	
18	2" x 12" BRASS NIPPLE	Each	20	\$49.59	\$991.80	\$56.70	\$1,134.00	
19	1-1/2" BRASS FLANGE KIT	Each	10	\$76.58	\$765.80	\$98.88	\$988.80	
20	2" BRASS FLANGE KIT	Each	20	\$86.95	\$1,739.00	\$107.29	\$2,145.80	
21	3/4" COMPRESSION MALE ADAPTER	Each	40	\$18.00	\$720.00	\$16.64	\$665.60	
22	1" COMPRESSION MALE ADAPTER	Each	40	\$20.00	\$800.00	\$19.71	\$788.40	
23	2" COMPRESSION MALE ADAPTER	Each	20	\$80.00	\$1,600.00	\$78.67	\$1,573.40	
24	3/4" COMPRESSION FEMALE ADAPTER	Each	5	\$18.00	\$90.00	\$17.51	\$87.55	
25	1" COMPRESSION FEMALE ADAPTER	Each	5	\$25.00	\$125.00	\$23.75	\$118.75	
26	2" x 1" COMPRESSION WYE	Each	10	\$115.00	\$1,150.00	\$135.42	\$1,354.20	
27	2" BRASS GATE VALVE	Each	20	\$110.00	\$2,200.00	\$359.89	\$7,197.80	
28	2" BRASS GATE VALVE (WITH OPERATING NUT) THREAD X THREAD	Each	20	\$415.29	\$8,305.80	\$359.89		

BID NAME/NUMBER: 25-596-07-14 / Meter Connect Supplies

OPEN DATE: July 14, 2025 2:00 PM CST



Vendor Name:	Ferguson Waterworks	Core & Main, LP
Street address:	1900 W. Expwy 83	100 N. 1st St.
City, State:	Mission, TX 78572	McAllen, TX 78501
	(757) 874-7795	(956) 631-3341
		V 8, 1,
	Brian Hill	Roy Garza

				D.T.G.T.T.III		10, 00		
				1 5		Jorge.Lopez@corandMain.co		
DESCRIPTION:		UOM	Estimated QTY.	Unit Price	Total Ext.	Unit Price	Total Ext.	
29	2" x 1" WYE 4 MULTI SERVICE	Each	10	\$85.00	\$850.00	\$81.81	\$818.10	
30	3/4" x 1" BRASS HEX NUT REDUCER	Each	5	\$10.00	\$50.00	\$4.53	\$22.65	
31	4"x 1" D/S SADDLE	Each	20	\$108.11	\$2,162.20	\$99.73	\$1,994.60	
32	4" x 2" D/S SADDLE	Each	10	\$137.31	\$1,373.10	\$126.62	\$1,266.20	
33	6" x 1" D/S SADDLE	Each	20	\$127.31	\$2,546.20	\$117.49	\$2,349.80	
34	6" x 2" D/S SADDLE	Each	10	\$160.04	\$1,600.40	\$147.58	\$1,475.80	
35	8" x 1" D/S SADDLE	Each	20	\$157.62	\$3,152.40	\$145.40	\$2,908.00	
36	8" x 2" D/S SADDLE	Each	10	\$180.83	\$1,808.30	\$166.64	\$1,666.40	
37	10" x 1" D/S SADDLE	Each	10	\$212.69	\$2,126.90	\$180.12	\$1,801.20	
38	10" x 2" D/S SADDLE	Each	10	\$244.69	\$2,446.90	\$212.46	\$2,124.60	
39	12" x 1" D/S SADDLE	Each	10	\$244.69	\$2,446.90	\$210.81	\$2,108.10	
40	12" x 2" D/S SADDLE	Each	10	\$262.52	\$2,625.20	\$242.05	\$2,420.50	
41	16" x 1" D/S SADDLE	Each	10	\$579.62	\$5,796.20	\$361.35	\$3,613.50	
42	16" x 2" D/S SADDLE	Each	10	\$679.63	\$6,796.30	\$361.35	\$3,613.50	
43	2" x 1" PVC QUICK TAP C160	Each	20	\$135.00	\$2,700.00	\$69.38	\$1,387.60	
44	3" x 1" PVC QUICK TAP C160	Each	5	\$164.00	\$820.00	\$92.20	\$461.00	
45	4" x 1" PVC QUICK TAP C160	Each	10	\$190.00	\$1,900.00	\$93.55	\$935.50	
46	COMPOSITE METER BOX	Each	500	\$17.95	\$8,975.00	\$19.98	\$9,990.00	
47	COMPOSITE METER BOX LID	Each	750	\$7.75	\$5,812.50	\$8.48	\$6,360.00	
48	3/4" RUBBER GASKET	Each	1,000	\$0.10	\$100.00	\$0.11	\$110.00	
49	1" RUBBER GASKET	Each	1,000	\$0.15	\$150.00	\$0.15	\$150.00	
50	2" CLOSE BRASS NIPPLE	Each	50	\$13.00	\$650.00	\$13.45	\$672.50	
51	ACCESSORIE	Each	6	\$185.00	\$1,110.00	\$206.92	\$1,241.52	
52	4" BRASS FLANGE KITS WITH ACCESSORIE	Each	6	\$285.00	\$1,710.00	\$310.65	\$1,863.90	
53	JUMBO METER BOX	Feet	50	\$34.00	\$1,700.00	\$33.33	\$1,666.50	
54	JUMBO METER BOX LID	Each	50	\$12.80	\$640.00	\$13.33	\$666.50	
55	I" MIPT x COMPRESSION CORPORATION STOP (S100-4 OR EQUAL)	Each	50	\$65.00	\$3,250.00	\$54.91	\$2,745.50	
56	COMPOSITE METER BOX WITH RECESSED HOLE	Each	500	\$19.50	\$9,750.00	\$25.23	\$12,615.00	
57	COMPOSITE METER BOX LID WITH RECESSED HOLE	Each	750	\$8.00	\$6,000.00	\$14.33	\$10,747.50	

BID NAME/NUMBER: 25-596-07-14 / Meter Connect Supplies

OPEN DATE: July 14, 2025 2:00 PM CST

OF MISSION	
意	١
OUNDED IN 100	5

Vendor Name:	Ferguson Waterworks	Core & Main, LP
Street address:	1900 W. Expwy 83	100 N. 1st St.
City, State:	Mission, TX 78572	McAllen, TX 78501
	(757) 874-7795	(956) 631-3341
	Brian Hill	Roy Garza

Jorge.Lopez@corandMain.co

			1			
DESCRIPTION:	UOM	Estimated QTY.	Unit Price	Total Ext.	Unit Price	Total Ext.
TOTAL BASE AMOUNT FOR (Line Items 1-5	57)	U 14 E		\$144,063.40		\$136,189.42
ADDENDUMS			None		None	
Delivery Days after Purchase Order:	er Purchase Order:		14 Days		7-10 Days	
1st 1-year Renewal			1	0%		20%

Please Note:

Apparent Lowest Responsible and Responsive Bidder: Core & Main LP

BID NAME/NUMBER: **OPEN DATE:**



Vendor Name: Aguaworks Pipe & Supply, LLC.

Street address: 501 W. FM 2812

City, State: Edinburg, TX 78541

(956) 383-8600

Ernie Ortega

ernie.ortega@aguaworkspipe.c

DES	ESCRIPTION:		Estimated QTY.	Unit Price	Total Ext.	
1	1" LINEAR FEET OF POLYETHYLENE TUBING	Feet	1,000	\$0.68	\$680.00	
2	2" LINEAR FEET OF POLYETHYLENE TUBING	Feet	1,000	\$2.43	\$2,430.00	
3	3/4" METER COUPLING	Each	400	\$6.14	\$2,456.00	
4	1" METER COUPLING	Each	75	\$10.56	\$792.00	
5	1" COMPRESSION ANGLE STOP	Each	100	\$64.63	\$6,463.00	
6	2" COMPRESSION ANGLE STOP FOR PVC PIPE	Each	5	\$344.02	\$1,720.10	
7	1" x 3/4" COMPRESSION ANGLE STOP	Each	75	\$52.60	\$3,945.00	
8	3/4" ANGLE STOP U-BRANCH	Each	50	\$35.48	\$1,774.00	
9	2" COMPRESSION ANGLE STOP FOR TUBING	Each	20	\$291.63	\$5,832.60	
10	1" COMPRESSION x 3/4" U-BRANCH	Each	20	\$96.75	\$1,935.00	
11	3/4" COMPRESSION TEE	Each	10	\$51.41	\$514.10	
12	1" COMPRESSION TEE	Each	30	\$71.30	\$2,139.00	
13	2" BRASS 90	Each	10	\$28.36	\$283.60	
14	2" BRASS CAP	Each	5	\$20.05	\$100.25	
15	2" BRASS COUPLING	Each	5	\$24.44	\$122.20	
16	2" x 3" BRASS NIPPLE	Each	30	\$25.69	\$770.70	
17	2" x 6" BRASS NIPPLE	Each	30	\$49.65	\$1,489.50	
18	2" x 12" BRASS NIPPLE	Each	20	\$97.86	\$1,957.20	
19	1-1/2" BRASS FLANGE KIT	Each	10	\$63.91	\$639.10	
20	2" BRASS FLANGE KIT	Each	20	\$74.02	\$1,480.40	
21	3/4" COMPRESSION MALE ADAPTER	Each	40	\$19.61	\$784.40	
22	1" COMPRESSION MALE ADAPTER	Each	40	\$23.20	\$928.00	
23	2" COMPRESSION MALE ADAPTER	Each	20	\$93.41	\$1,868.20	
24	3/4" COMPRESSION FEMALE ADAPTER	Each	5	\$21.02	\$105.10	
25	1" COMPRESSION FEMALE ADAPTER	Each	5	\$30.07	\$150.35	
26	2" x 1" COMPRESSION WYE	Each	10	\$95.63	\$956.30	
27	2" BRASS GATE VALVE	Each	20	\$50.62	\$1,012.40	
28	2" BRASS GATE VALVE (WITH OPERATING NUT) THREAD X THREAD	Each	20	\$275.41	\$5,508.20	

BID NAME/NUMBER: **OPEN DATE:**



Vendor Name: Aguaworks Pipe & Supply, LLC.

Street address: 501 W. FM 2812

City, State: Edinburg, TX 78541

(956) 383-8600

Ernie Ortega

ernie.ortega@aguaworkspipe.c

DE:	DESCRIPTION:		Estimated QTY.	Unit Price	Total Ext.	
29	2" x 1" WYE 4 MULTI SERVICE	Each	10	\$103.30	\$1,033.00	
30	3/4" x 1" BRASS HEX NUT REDUCER	Each	5	\$4.25	\$21.25	
31	4"x 1" D/S SADDLE	Each	20	\$112.55	\$2,251.00	
32	4" x 2" D/S SADDLE	Each	10	\$142.97	\$1,429.70	
33	6" x 1" D/S SADDLE	Each	20	\$132.55	\$2,651.00	
34	6" x 2" D/S SADDLE	Each	10	\$166.63	\$1,666.30	
35	8" x 1" D/S SADDLE	Each	20	\$164.11	\$3,282.20	
36	8" x 2" D/S SADDLE	Each	10	\$188.29	\$1,882.90	
37	10" x 1" D/S SADDLE	Each	10	\$203.32	\$2,033.20	
38	10" x 2" D/S SADDLE	Each	10	\$239.87	\$2,398.70	
39	12" x 1" D/S SADDLE	Each	10	\$237.99	\$2,379.90	
40	12" x 2" D/S SADDLE	Each	10	\$273.33	\$2,733.30	
41	16" x 1" D/S SADDLE	Each	10	\$603.51	\$6,035.10	
42	16" x 2" D/S SADDLE	Each	10	\$707.65	\$7,076.50	
43	2" x 1" PVC QUICK TAP C160	Each	20	\$116.60	\$2,332.00	
44	3" x 1" PVC QUICK TAP C160	Each	5	\$143.88	\$719.40	
45	4" x 1" PVC QUICK TAP C160	Each	10	\$138.66	\$1,386.60	
46	COMPOSITE METER BOX	Each	500	\$19.93	\$9,965.00	
47	COMPOSITE METER BOX LID	Each	750	\$7.99	\$5,992.50	
48	3/4" RUBBER GASKET	Each	1,000	\$0.08	\$80.00	
49	1" RUBBER GASKET	Each	1,000	\$0.10		
50	2" CLOSE BRASS NIPPLE	Each	50	\$20.63	\$1,031.50	
51	3 BRASS FLANGE KITS WITH ACCESSORIE	Each	6	\$3,349.86	\$20,099.16	
52	4" BRASS FLANGE KITS WITH ACCESSORIE	Each	6	\$5,192.08	\$31,152.48	
53	JUMBO METER BOX	Feet	50	\$36.60	\$1,830.00	
54	JUMBO METER BOX LID	Each	50	\$13.15	\$657.50	
55	CORPORATION STOP (S100-4 OR EQUAL)	Each	50	\$60.76	\$3,038.00	
56	COMPOSITE METER BOX WITH RECESSED HOLE	Each	500	\$19.40	\$9,700.00	
57	COMPOSITE METER BOX LID WITH RECESSED HOLE	Each	750	\$8.53	\$6,397.50	

BID NAME/NUMBER: OPEN DATE:



Vendor Name: Aguaworks Pipe & Supply, LLC.

Street address: 501 W. FM 2812

City, State: Edinburg, TX 78541

(956) 383-8600

Ernie Ortega

ernie.ortega@aguaworkspipe.c

			1	
DESCRIPTION:	UOM	Estimated QTY.	Unit Price	Total Ext.
TOTAL BASE AMOUNT FOR (Line Items 1-5	7)			\$180,192.39
ADDENDUMS			None	
Delivery Days after Purchase Order:		2-6 Weeks		
1st 1-year Renewal			6.0%	

Please Note:

Apparent Lowest Responsible and Responsive Bidder:

BID NAME/NUMBER: 25-596-07-14 / Meter Connect Supplies
OPEN DATE: July 14, 2025 2:00 PM CST

6	MISSI	ON
	*	[4]
3		100
12		30/
100	VOED 1	N 19

DESCRIPTION of FORMS:

References CIQ

W12210V				
Vendor Street ad	Name:	Ferguson Waterworks	Core & Main, LP	Aguaworks Pipe & Supply, LLC.
Street ad	dress:	1900 W. Expwy 83	100 N. 1st St.	501 W. FM 2812
City,	State:	Mission, TX 78572	McAllen, TX 78501	Edinburg, TX 78541
o F	hone:	(757) 874-7795	(956) 631-3341	(956) 383-8600
CNDED IN	Fax:			
Co	ntact:	Brian Hill	Roy Garza	Ernie Ortega
	Email:		Jorge.Lopez@corandMai	ernie.ortega@aguaworksp
CRIPTION of FORMS:				
Solicitation Signed		Yes	Yes	Yes
Terms & Conditions Included		Yes	Yes	Yes
Non-Collusive Bidding Certification		Yes	Yes	Yes
Pricing Schedule		Yes	Yes	Yes
Addenda(s)		None	None	None
Gen. Business Questionare		Yes	Yes	Yes
References		Not Included	Not Included	Yes